_I
-
B
)
L
A4
Ty
&=
P
¥
e
T
.
o

. j@sd72 B0 Wz 250 o
2. {2z A &N
TE a,f = F344 ax®+bx+c=0 HFRE a>pB R
(a) #ax’*+bx+c=0 # x=2a & x<pB >
(b) ¥ ax’+bx+c<0 # B<x<a -
(c) Fax®+bx+c>0 # x>a & x<p-
(d) £ax®+bx+c<0 # f<x<a -
3. fEA N7 EN

@ #1500 2 {f(x)xg(X)ZO(SO) ,

a(x) g(x)#0
0 # X500 % F(9xg00>0<0) -
90

4 fRg G EHEas EN
(a) £[{za=0 # x2a & x<-a-

(b) #|q=<a # -—as<x<a-
() £¥>a20 @ x>a & x<-a
(d) £]¥<a  #® -a<x<a

(e) % H/Rx o

N 1 B R ’/ltt’P:/,/O\OOD{PVLV\/LCSAOA\;AOVQ/




5.

RN R T i R

(a)
(b
(c)
(d
(e)

(f)

Ff[2900  #f(29(x) & F(<-g(x) -
FT[<9(0  # -gx)=f()<9(¥)
Ff[>900  #f()>9(x) & f()<-g(x)
Ff<g(d  # -g(x)<f()<g(
Ff[ 2o # [F(]*2[g(x)]* -

T O =g(MIf(x) +9(x)]=20 >
FF[>[g(]  # [F(]*>[g(x)]* -

T [T =g(If(x) +9(x)] >0 -
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¥ 1<a<92<b<8: RT A& NP E o -

(a) ab

(b) a*-b?

() [|a-b

¥ (a) 1x2 < ab < 9x8

2 < ab < T2

(b) 1°-8 < a*-b* < 9*-2°
-63 < af-b®> < 77

(c) 1-8 < a-b < 9-2
-7 < a-b < 7

“12 0<la-h[<7 -

abc #=B2f FH> ¥R 3a+2b+c=5 2 2a+b-3=1-%
m=3a+b-7c iz x F m B ) E oy F om ekt E R xy GE -
CEPERE EE 55 JEEE TS

£ 4 b #® a=7c-3>

¥4 a>® b=7-1lc -

c=20
d g 7c-3>20 » *=1® lscsgo
11 7
7-11c=0
d 3 = 3a+b-7¢ = 37c-3)+(7-1ic)-7c
= 21c-9+7-11c-T7c
= 3c-2
7 1
ko] B X A 3(5)-2= -—-
B X ST 11
3 5
LI ST Y -)-2= -Z-
m 1B y 3(7) 7
1 5 5
71 = -—)x(—=) = — o
X ( 11) ( 7) 77

Fofl |\ £ 9 § 029K htto//aoodprivmes.eus.org/




3.

RN

KA

F M,N 525 1 2 50 2Fend B2 bkl &

M + N

M -N
(SAMO-S 2011)
Qf%é}ﬁiﬁ,"r\ 95:’?,40\4&%\2 ;‘;J};&9
B~ M-N=1-% (M,N) = (50,49) -
pepFEs G5 AE M+N=50+49=99
M +N _ 50+49
s A dehik s By (M N) = (560,49) 0 9 = =
fepph desniok iw g QLN = (50,49) » 7 S =T
» 6x-a=z0 . . S s e
ok d F N e {4X—b<0 R 1,2,30 K3 5§

R 0<—-<1 %2 3<
6

2 0<a<b % 12<b<16: 7 1<a<6 13<b<16 -

ey B EEY (ab) s 6x4=24-

B3 &8 4<(x-3)%<8Ll 1 %" B E#kiz?

(x-3)> > 4 =z (x-3)* <
-2< X-3 <2 2 -9 < X-3 <
1 < x < b 2 -6 < X <
K

2E ., -6<x<1 & 5<x<12-
HEFEEKELy (8-2)+(8-2)=12 B -

272 538 (X +x-2)(x*-x-6)<0
(X=-D(x+2)(x+2)(x-3) < 0
(x-D(x+2)*(x-3) < 0

(x=-D(x-3) < 0 2 xz-2
2 1<x<3-

Foh | g ? g Bt Mttp://aoooipVimeslevﬁlom/

81

12

g x B o



1. f272 &30 X+12E
2x-1 3
- x+1 1 0
¢ 2x-1 3 B
3(x+1 -(2x-1) 0
3(2x-1)
X+4 > 0
6x—3
1
(x+4)(6x-3) =0 (X+4)(x—§)20
IR ER sy TR L
6x-3%0 %X
2
1
A fRE S X< -4 g x>§ o

0% x<g,[¢zﬁ'aft$

-(x=5)+(2x-3) < 1
X+2 < 1
X < -1
el fEx<-1-

¢4 gSX<5 s N A
-(x=-5-(2x-3 < 1
-3x+8 < 1
X N

3

éﬁt%ﬂﬁig<x<5o

¥ X250 RF LA
(x=5)-(2x-3) < 1
-X-2 <l
X > -3
T FfEX25

FEE x<-1 & X>g 0

Fofl |\ £ 9 § 029K htto//aoodprivmes.eus.org/




9.  F 5 BEE x B E 19<[7Tx+1<97 -
g 0d 7x+1 < 97
®-97 < Tx+1 < 97
14 < x < P32
7 7
d 7x+1 = 19
i x+1 = 19 & 7x+1 < -19
x > Bod a i < -2D-58
707 7 7
TG R —14sxs—2E g Zilsxsli%§
7 7 7
Hoh RUE S gy 0 14, -13, <12, ..., -3, 3, 4, 5, ..., 13>
£23 B o

10, FAR- AFHTH/I L, 2, 3, - WA B - BEARAET 0 B
3@~ Ba e 20120 RS RPT AL Y2
WA NT S no @A RPT S S x 0 F & lsxsno

1

%;ﬁ—r’f"i&’frf;

L
2 < <
M+ < 201 < nn+y
: 2
n?—n < 4024 < nines

& V4024=63> ¥ B~ n=63- =2016> 2012 -

TR AR/ RS - 2016 - 2012 =4 -

63 (63+1)
2
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ol

1. F 2<a<83<b<9 - KT NP B F
(a) a+b (b) ab
(c) g (1) (a-b)?

2Xx—-3a<7b+2

2. © A HF N4
6b-3x-3<5a

i G 4<x<23 > R ab+a+b i -

3x-b<0
B B4 (a,b) ?

2x-a=0 s . )
3. dodk 3 &S FERfEE L 4,5,6,7,8° K3 5y b

4, 2T 53 &0
(a) x*+5x<6 (b) 3(x*+1)=10x

5. H-fkx 2 Ea+2a-Dx-(a-2) <02 = » fadd X & o

6. AT A3 &5
(a) X+2£0 4>2
X—3 X+5
. X2 +2x-2
7. FFEN <X
f T 3+2x-x2
8. 2T 53 H500
(a) |[x+4=7 (b) x*-2>|x
9. ﬁé:"f E7] S
1
a Xx=1+|x+2 <5 b >
(a)  [x-1+[x+2 <>1+X1+X

3

0. FREA ¥R <3 ARG d B R i

X

Z-\2
, V2
(HKMO 2006/07 #-F i « )
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=T
(a) 2+3 < a+b < 8+9
5 < a+b < 1T
(b)  2x3 < ab < 8x9
6 < ab < T2
2 a 8
= < = < =
(c) 9 b 3
(@ 0 (a-b)’ < (2-9)°
0 (a-Db)? < 49
3a+7b+2 3a+7b+2 _
x<—2 — 5 =23
7:451 , L 45' ’
f# —sa+eb-3 " P\ _sateb-3_
X>—— = == Y=y
3 3
a=3 ’
18 {b—S 71 ab+a+b = (a+)(b+n-1
= @+pGBG+n-1 = 23
- b
7 ENEEE 25x<§o
w  3<®<a4 2 8<P<o.
2 3

#1# 6<a<8 % 24<b<27 > % 7<a<8’ 25<b<27 -
w} AEEH (ab) 0 2x3=6-

4. @ X% +5x <
x*+5x-6 < 0
(x=D(x+6) < 0

-6<x<1

(b)  3(x*+1) > 10X
3x*-10x+3 = 0
Bx-H(x-3) = 0

xsE X2

w
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A=(2a-1)*-4a@-2)<0 , 4a+1<0

» T g g A B L -1

s a<o0 a<0
a Zis T .
1
4

X+2
a < 0
(a) —3
(x+2)(x=-3) < 0
-2<Xx<3 i x#3 #fEis —-2<x<3-

Xx—4

b > 2
(b) X+5
x—4_2 S 0
X+5
x-4-2x-10
X+5
-x-14 S 0
X+5
x+14 < 0
X+5
(x+5)(x+14)< 0
-14<x<-5
2
+ —
X 42x-2_ C
3+2X—X
x? +2x—-2-3x-2x* +x°
2 <0
3+ 2x—X
3 2
-X"=X-2
XX ox2 .-
X°—2X+3
(Xx=2)(x* +x+1) .
(x=3)(x+1)
N 2 12 3
2 4

»;L'r,n‘z}ﬁitgﬁg%: N
(X+D(x=2)(x=3) > 0
T -1<x<2 & x>3

Coh | 29 | 295 nttp://goodprimes.eus.org/




8. (a) [x+4 > 7
X+4=>7 & x+4<-7
X=3 & x<-11
LY -11<x<3 -

b |4 -{-250 -
™ <ol (B4) & {>2
HfELE X<-2 g x>2-

9. (&) |x-1+|x+2<5

¥ ox<-2 g
-(x-)-(x+2) < 5
-X+1-x-2 < 5
- 2Xx < 6

X > -3
L =3 X<-2 o

¥ —2<SX<1pF >
-(x-D+(x+2) < 5
- X+1+Xx+2 < 5
3 < 5
frrl —2< X<l o

¥ OX=21pF >
(x=1D)+(x+2) < 5
2x+1 < 5
X < 2
Arrl 1S X< 2 e

Femi® -3<x<2-

(b) d i>i T i<0’?'r* 1+x<0>» x<-1-
1+x 1+X 1+x
3 X 3
10. 5 <3 J2 < :
-3+242 < x < 3+242

J2=145 %1 -3+2J2=-02 3+2/2=58
X hERfEe 3 0, 1, 2, 3, 4, 50 d=6-
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